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Atomic Theory History

1) _____ is credited with naming the atom, which he said is the building block of all matter & “atomos” means _____.

2) _____ believed the atoms were solid balls and that atoms of one element are different from the atoms of another element, but he didn’t know how they were different.

3) Using a _____ ray tube, _____ identified the electron as a negative particle. He knew electrons were in atoms, so he came up with the _____ model. He thought the negative electrons were floating throughout a positive substance.

4) Through his gold foil experiment, _____ identified that the nucleus of an atom is _____ and that the atom is mostly _____ space. Although the nucleus is just a small part of the atom, he found that the mass of the atom is in the nucleus. He came up with the planetary model, but he didn’t know that protons and neutrons were in the nucleus.

5) _____ believed the electrons orbited the nucleus and that the nucleus contained neutrons and protons. The negative electrons are attracted to the positively charged nucleus.  His model is often associated with circular electron orbitals.
6) The current model is the electron _____ in which the protons and neutrons are in the _____ and the electrons are found in _____-like regions surrounding the nucleus.

Atom Anatomy

7) The nucleus of the atom holds the _____ and _____. The nucleus is held together by the _____ force. Electrons are attracted to the positive nucleus and are found orbiting the nucleus. 

8) Protons have a positive charge and a mass of _____ amu Neutrons have a _____ charge and a mass of 1 amu. Electrons have a negative charge and a mass of _____ amu

9) The number of protons is the atom’s _____ number . The number of protons also gives the atom its identity. 
10) The element sulfur has an atomic number of _____, so it has _____ protons.

11) The mass number of an atom is equal to its number of protons and _____, since both of these particles have a mass of 1 amu. If you alter the number of neutrons an atom has, you will alter its _____ number.

12) An _____ is an atom of the same element but has a different mass number because it has more or less _____.

13) Scandium- 45 and Scandium- 48 are _____. The 45 and 48 represent the mass #s of the two _____. Scandium-45 has _____ protons and 24 neutrons, whereas Scandium-48 has _____  protons and 27 neutrons.

14) Argon’s atomic number is 18 and its mass number is 40. Argon has 18 _____ and 22 _____.

15) The atomic _____ is different from the mass number because the atomic mass is an _____ of the masses of many atoms of the same element. This is why the atomic mass is a _____ but mass number is always a whole number. 

16) Atom A, B and C are all atoms of the same element X. Atom A has 7 protons and 7 neutrons. Atom B has 7 protons and 8 neutrons. Atom C has 7 protons and 10 neutrons. 

a) The mass number for atom A is _____
b) The mass number for atom B is _____
c) The mass number for Atom C is _____
d) The average atomic mass for element X is _____ amu. 
e) 
[image: image1.wmf]50

119

Sn   - 
The atomic number of Sn is _____ and the mass number is _____ and this atom has _____ protons and _____ neutrons. 

17) The atomic/nuclear symbol which represents an isotope of Sn that has 67 neutrons is _____. 
Ions

18) Atoms have the same number of protons and electrons which makes them electrically _____

19) But, since electrons are found _____ the nucleus, it is easy for an atom to lose or gain electrons, and when this happens, an atom becomes an _____ 

20) So if an atom of Flourine gains an electron it will become an ion of Flourine. It is still fluorine but it now has a _____ charge.

21) Atoms that _____ electrons become negatively charged and atoms that _____ electrons become positively charged.

22) An atom with a _____ charge gained 3 electrons and atom with a _____ charge lost 2 electrons 

23) Remember, atoms become ions by losing or gaining electrons. The number of protons is _____ altered to make ions.
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